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Ans(c)
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Sol.
8+3x9-4+12
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(d)27
Ans(b)

Sol.

I=9x 2 =18

C=3x2=6
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(a)51.25%
(0)37.5%
(C)43.75%
(d)45.2%

Ans(a)
Sol.

Let dealer purchased 1 kg {1000gm} in Rs 1000
In Ist case instead of 1 kg he obtained 1100 gm
In IInd case he sell 800gm instead of 1000 gm
He save 300 gm

[lIrd case he claims 10% profit 1

So, when he sale 1100 gm

Selling priceis = 1100 X % =1210

Article cost 800gm = 800 Rs
Selling price = 1210 Rs
Required profit percentage = [%] X 100 = % X 100 = 51.25%

Q22.
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(b)1853
(c)2520

(d)1545

Ans(b)
Sol.

LCM of 8,11, 6 and 7
=1848
Required number of mangoes = 1848 + 5 = 1853

Q23.
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(3)896

(b) 300/0

1
=0
(0)12: %0

(d)1596

Ans(c)
Sol.

After [t discount selling price is
800 X — = 640

100
[I"d discount = 640 - 560 = 80

Required discount percent (x) = % X 100 = 12 }%

Q24.
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(00 af)IEN?

(a)41 years
(b)44 years
(c)43 years
(d)45 years

Ans(b)
Sol.

Father's presentage =33 + 17 =50 yrs
Atq,

(50-m)=3(19-17)=6

X = 44 years

Q25.
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2 2RSS N {00

(a)Nil

(b)Rs. 450
(c)Rs. 900
(d)Rs. 250

Ans(b)
Sol.

Ist discount = 30%

25+5-25x%5

[17d discount = = 28.75%

Required difference = (30 - 28.75) % of 36000

36000%1.25
=———— = Rs.450
100

Q26.
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el afllezlsnsmeamm)o MUENG)la)).
B0} Al DEQWICBHNIUT 90 ©@)al
SO LI H6)BQI6I6MER 100,

8 I www.adda247.com/ml/ | Adda247KeralaPSCyoutube | Adda247App | t.me/Adda247Kerala
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(a)1200

()2000
(c)1800
(d)2400

Ans(c)
Sol.

A:B=5:7
Let total profit be x
So, according to question,

2

— X 0.3x =90
12

= x=Rs 1800
Q27.
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(a)221

(b)17

(c)19

(d)1

Ans(a)
Sol.

HCF of two-prime numbers = 1
~ Product of numbers = their LCM = 221

Q28.
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6)aleNBSG |HEYOISWI0 @MAld®o 5 : 3. 70%
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(a)35.5%

(b)300/°

1
=0

(d)27°/0

Ans(c)
Sol.

Let Boys = 500

Curls = 300

Scholarship - holders boys = 350
Scholarship - holders girls= 240

i 0 =£ = iO
Required % 300 < 100 264/0

Q29.
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GUOaHo  alMY@o  HNBMSIM). @B
A1 N30 OSWIMITd Ml 16
21MNY OOUSL 1WA  a}NESYMETIN: 1T,
10 21mMQ1N) GUoaHo @ONUM HENMSIOM).
@CAOU3 @RRIHOM (S IMIMBEa0 GAUND
HEEBOTN)EH?

(a)1 km/min

(b)1.5 km/min
(¢)0.5 km/min
(d)3.5 km/min

Ans(b)
Sol.
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A 80km B
5 L
Let the speed of train A= x km/min & B = y km/min n
From condition (i) They meet after 20 mins.
20x + 20y =80

xX+y=4

0)

Trains are moving in opposite direction.

Therefore, relative speed = (x + y) = 4 km/min
From condition (ii) distance covered in 10 min by t
Difference in distance = 80 - 40 = 40 km

This difference is because train A starts 16 minutes i
So, now speed of train B = % = 2.5 km/min

Hence, speed of train A =4 - 2.5 = 1.5 km/min

Q30.

Ifx = Vx? + 30 — 3, then the value of (x*+8x*+27x) is
(@)0

(b)3

()7

(d)11

Ans(b)

Sol.

x= Yx2+30-3

Or,
(x+3)=Vx2+30
Cubing both sides

(x+3)2=x2+30
x3+27+3x3xx(x+3)=x*+30
x3+27+9x%+27x= x*+30

x> +8x%+27x=3

Q31.

The cost price of 20 articles is the same as the selling
price of x articles. If the profit is 25%, then the value
of x is?

(a)14

(18

Ans(c)
Sol.

Let C.P. of each article be Re. 1 C.P. of x articles = Rs. x.
S.P. of x articles = Rs. 20.

Profit =Rs. (20 -x)

ATQ,

> (5% 100=25
= 2000 - 100x = 25x
= 125x=2000

2> x=16

Q32.

If the selling price of an article is doubled, the profit
triples. Find the profit percent?

(@)33% %

(0)66% %
(c)100%

(d)105% %

Ans(c)
Sol.

Let C.P. be Rs. x and
S.P.be Rs. y.

Then ATQ, 3(y -x) = (2y - x)
2> y=2x.
=> Profit = Rs. (y-x) =Rs. (2x-x) = Rs. x.

X
- x100

** Profit % =
rofit% b % =100%

Q33.

A shopkeeper bought orange toffees at 6 for a rupee.
How many for a rupee must he sell these toffees to
gain 20%7?

(a)4
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(@8

Ans(b)
Sol.

C.P. of 6 toffees = Re. 1
6
S.P. of 6 toffees = 120% of Re. 1 = Rs. g

6
For Rs. g , toffees sold = 6.

5
For Re. 1, toffees sold = [6 X —6J =5.

Q34.

A small vendor expects a gain of 22.5% on his cost
price. If in a week, he did a sale of Rs. 392, what was
his profit?

(a)Rs. 18.20

(b)Rs. 70
(c)Rs. 36.40

(d)Rs. 72

Ans(d)
Sol.

100 1000
C.P.=Rs. [ X 392J =Rs. (— X 392J =Rs. 320
122.5 1225

** Profit = Rs. (392 - 320) =Rs. 72.

Q35.

The cash difference between selling prices of an
article at a profit of 4% and 6% is Rs. 3. The ratio of
the two selling prices is?

(a)52: 53

(b)51: 52

(c)51: 53

(d)52: 51

Ans(a)
Sol.

Let the C.P. be x
ATQ,(6-4) % ofx=3

=2 2%ofx=3
= x=Rs. 150
=~ SP at 4% gain = 150 *%= Rs. 156

- SP at 6% gain = 150 *%;= Rs. 159

~ Required ratio = 156: 159
=52:53

Q36.

A milkman makes 20% profit by selling milk mixed
with water at Rs. 9 per liter. If the cost price of 1 liter
pure milk is Rs. 10, then the ratio of milk and water in
the said mixture is?

(a)1: 3

(b)3: 1
(c)3: 2

(d)4: 3

Ans(b)
Sol.

Let Milk: Water=K: 1

~SP.=(K+1)x9

C.P.=10K

Gain=9-K

Gain % = ——* 100
10K

S ATQ, 910: *100 = 20

= 90 - 10K =20K

= 30K =90

2>K=3

~ Ratio=3:1

Q37.

Partha earns 15 per cent on an investment but loses
10 per cent on another investment. If the ratio of two
investments is 3: 5, then the combined loss percent
is?
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(a)5/4 %
(b)4/5 %
(©)8/5 %

(d)5/8 %

Ans(d)
Sol.

Let the first investment be 3x
Then second investment be 5x

10
'.OO_ Sx s m* 100
3x + S5x

X
Combined loss % =
‘_‘Z - sox

= 100 100 % 100
8x c
=5x 5
= *100 = - - per cent or — % loss
8x + 100 8 8

[- tive sign shows loss]

Q38.

If an article is sold at 250% profit, then the ratio of its
selling price to its cost price will be?

(2)2: 5

(b)5: 2
()2:7

(d)7:2

Ans(d)
Sol.

IfC.P.=100

S.P. = 350 [gain being 250%)]
. Required ratio = SP: CP
=350: 100

=7:2

Q39.

A man sells a car to his friend at 10% loss. If the
friend sells it for Rs. 54,000 and gains 20%, the
original cost price of the car was?

(a)Rs. 35000

(b)Rs. 48000

(c)Rs. 50000

(d)Rs. 52000

Ans(c)
Sol.

If the initial C.P. of car be Rs. x, then

- First S.P. = =
10
= 2120 - 54000
100

e i = 54000 « 1000 = Rs. 50000
9+ 120

Q40.

Last year Mr. A bought two paintings. This year he
sold them for Rs. 20,000 each. On one, he made a
25% profit and on the other he had a 25% loss. Then
his net profit or loss is?

(a)He earned more than Rs. 2000

(b)He lost more than Rs. 2000
(c)He earned less than Rs. 2000

(d)He lost less than Rs. 2000

Ans(b)
Sol.
C.P. of first painting = w =Rs. 16000

&5‘“ = Rs. 26666.7

Loss = Rs. (16000 + 26666.7 - 40000)
= Rs. 2666.7

C.P. of second painting =

Q41.

‘AL B o) QOB al)@e¥MO@ X' af)0Mm
(BB Calo@1MBeN1@3 MIM)  @ROIMOS
@I  @YOORILNMY. A alSlaomIO
o3 4 £516RIOA’ QM@ NSHONMM]. 'B' (USHS)
@3 1 &16e102710@ MSM HSEOMIS
© 1016010 GMO® 4 £5162102°10@ NSHNMY. 'A'
QIRIGOOS @ @160 GMED 2 &16e10n’1a@
MSHNMM). 06oU3 'A' 'B'QI@3 MM ag)(@®
R1OOWIN)?

(@)1 km
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(0)2 km
(c)3 km
(d)4 km

Ans(a)
Sol.
A

4km

2km|3

Tkm

1km

4km

X

(Starting point)
Clearly the distance between Aand B = 1km

Q42.
oMoy  @oeMIl@d (iS5Gl
2o @@ 1201 b.

I~

.Q

(a)

(c)

Ans(c)
Sol.
630ala¥03 (c) @Y OB 1WIW afl(Mo.

Q43.

= % )N (alUGOTMEERsY0 ‘4, ‘5" af)0M]
MoGUIHBlo aldMo M1  GUdnHo
M@3B 11D HNM  BIalaHMBHE1@3 M)

(RO 1O® MVACUIES0 O 1OE)EDTNSIHE) .
(@)9-4 x 5=21

(b)5%x4-9=7
(C)5%9-4=4

(d)y4-5x9=11

Ans(d)

Sol.

5x4-9=11

Q44.

oMo afl@om 1@, G1@eelal@)mo
rulmlao Mo WO HE®
(d@ 1o U@ 1060M), QIO

H0BSIMIINDHOS (@ 1N 1W @ 18630M),
(@ 1BHHI6Mo HIOMIBRIOOQY0  2l@00
(BBOQ 1560600
(@ MW B 1B00M). HOBSL6M 1MVIHEOQ
(B1HO)  HENBNIND () 1N W 1@ 18630M
@BRBHUEBBUT aB@I6M?

13

I www.adda247.com/ml/ | Adda247KeralaPSCyoutube | Adda247App | t.me/Adda247Kerala




Q45.

(alROCUM

)21 HSBNIBE:-B)0 MDRMIAI6M
O03]IBMBHUDNIW af)2100 MVIMI1S)H-806M)
af)210 MUMVEMIEBREY0 MIMI18)HH-806M

mlnamo

. 63(@) MVOMIIB)o BENIHS) @L]

I1. ag)210 omileyo Mm2mM o 1@ 1e630
1. aflel 9@3aJoBMo MOVERM IR 1@ 16600
(a) Mnamo | M@0 allamsSEIM)

(b) M1N@Mo Il MO0 allomMS@IM)

© I, 1 a1 @ MINAMEERS)o
R OEO!

d mluamo | @oeLl®:Id Mmlnamo i
af) MU afloos@ymlel

Ans(c)
Sol.

Only Il and Il yellow

Samples

Q46.

A @800 A1gied Ml @oooE 1He6030My).
@M OMWBEOO OOMVHHUE 1 &5 16RO QM
HPCHNIS BB,  aflomm @

ASCHNS ®Ioleom 4 H1eeon’1Qd
MSHNM), ol @oAUM  alS1eomIGNIS
@160 9 & 162102071Q@ MNSHNMM), RSB
DSCOMHN @Il 4 & 1ceon’lQd
MSHENM). @OOUMEO0 IS hklw]
ENIMLES @AM o) 1OSQIEM?

@) 8 #1.2°1 alS1eomI0
(6)10 &51.2°] alS1eOmIO
(€) 8 1.2 B51PH6)

(d)10 &51.2°) B519H6)

Ans(a)
Sol.
9km
4 km 4km
1 km east
8 km West
Q47.

B0} (ICMYH GBS BIHW M3, 'PLANNED'
af)M® 'RNCNPGF' af)0M)o 'PROMOTE' af)(M@®)
'RTQMQVG' af)0Mo af) P3O 1@ 1H860m). @)
B0aUW @3 'IMPROVE' af)68136)M af)PIMI0?
(a)KORTQXG

(b)KORRQXG
(c)KOQRQXG
(d)KORTOXG

Ans(b)
Sol.
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P L ANNED PROMOTE
111111l i 1111l
RNCNPGF RTQMQV G
+2+24+24+0+2+2+2 +2+24+240+2+2+2
Similarly,

Il MPROVE

1 11111l

K ORR Q X G|

Q48.
B0) (G BGHIU) BIHWI®3, 'BELL'
af)0M@) '111141" af)0M0 'HEAR' af)(N@) '172647"
a)Mo GBI 6P 1HNM). @)
B0aUW @3 'MIKE' af)6836)MN GO 6)al@)o?
(a)410813

(b)410811
(c)410812
(d)410612

Ans(c)
Sol.

Q49.
M@ D@ 1BNRM  @6Ns
@Yo MMM 1LNeS
VDU 681363100

(@ 1 QIBHIDTD)?
x and —
(@)15+5+1-9x4 =70

@SWIBEERUT
M loO@M
aB®96M)

(0)5—6x 3+ 16 4 = 31
C)11+6x3-8+2=5
(d)15—4 x 3 +6 + 1 =63

Ans(a)
Sol.

Interchange X and -
Do it by options: -
(a) 15+5+1—-9x4=70
l 1l
15+5+1Xx9—-4=70
=4 154+45—-4=70
56 # 70 = Not correct
(b) 5-6X3+16+4=31
l l
5X6—-3+16+4=31
30—-3+4=31

|31 = 31| — correct

() 1146x3-8+2=5
l l
= 17 —12 =5,

|5 =5 | — correct

(d) 15—-4%x3+6+1=63
l l
15X4—-3+6+1=63
60 —3+6=63

|63 = 63| — correct
ps =
Q50.
M@3B 1o lemnm @20l alBeers 13

(S laflemnm  quadmAad®  IMLEYOD)
0] @11 N@3 (@ 1N 1W @ 1863M al-
3200 @ 106)601NSIH) 6.

(UIOMNEHUE  — @RBMAUOIQ oWl
AlBEERBIWT  HEMBOIBNH-QI0  NUIHE 6Ll

@OBHVEBRBYOS af)émo /
U SEDIRMILHDEBRBNS /
(NVIIHHOEBRRYIOS af)emo
@S 1MOIMNAIHE | al@Myo
ENIMWEIIS 1@ HOI)

G0l ln: Mo@H-H6Mo
(a) DD ]: B6MO
(b) H883013: 213

(c) 92200 2240
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(d)@OU 0l B03: 3000

Ans(a)
Sol.
Police : Protection

I—
U

Police relate to Protection

As the same way,
Minister : Governance,
L
|}

Minister related to Governance

Q51.

The sum of V0.01 ++/0.81 + /1.21 + 1/0.0009 is?
(@)2.1

(0)2.13
(c)2.03
(d)2.11

Ans(b)
Sol.

v0.01 +/0.81 +/1.21 +/0.0009
= 0.1+09+1.1+0.03
> 2.13

Q52

Q6NS Gal@)6)S EHIPHO (100 WLOO(B>A0
36 90 50 90 @Y. n UGHOT M) BUOAHO
@OOUOYOS (OO IMBEO0 @OMald®o 3: 4
@QEEM: @3, n BeX0 MYLIL0?

(a)y

Sol.

36+ n
S50+ n

= 144 +4n =150+ 3n
= 4n-3n=150- 144
2>n=6

_3
-

Q53.

1 POAIMNOD 10BN aldH}@ | BUdIoUPAIW]
)P0 10372

(a)0.2

()0.02

(c)0.05

(d)0.005

Ans(d)
Sol.

Q54.

&B0) HMIM YOS @SBURIW 7 CUBHEITD)
(0EOUE] AIEAIMo 75 BlHHo @alWI6N).
@RYBLEDOD) 4 (UBHOO® PIWOD] 70 Rls:Ho
@al@)o HF1O0D 4 AUBHUHDOD VOOV | 82
BlHo 0] @IMI6Y6MER; 100, 4-0000
Q@U@ UDYAIMO af)(O@OIW @ 166307

(a) 85 Rld:H0 @)al
(0)83 RlHO @)l
(c)81 RldHo @Yl

(d)79 Bl8Ho @)al
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Ans(b)
Sol.

Revenue of fourth year

=Rs. (4 x82+4x70-7 x75) lakhs
= Rs. (328 + 280 - 525) lakhs

= Rs. 83 lakhs

Q55.

@LNO(BA0 2 Ho 3 Oo UB 1YW UGN 122
©0 243 0 aN® 1HNIM a@GQN o UL Moy,
aB®96N)?

(a)12

(b)24
(c)120
(d)30

Ans(c)

Sol.

QUSBODIWY0, 122 — 2 = 120, 243 — 3 = 240
)M 10U @YU MBS TMVo6L S B0
B IOIDOQ ] aN@ 1HHOUM@IEM).

- @QNUUDIMEBE MMM

=120 MOO@)o 240 MENWYo HCF = 120

Q56.
1 AUGHBODHNBS a0  mluailo
MEIVMOMIMBEE0  O@O@Mo  VOUIEM

aleflve, 2 QUGHCOMH (ol 1NIGaHo 5%
)M MEHH1T3 @G MEILMOD 1035610
OAOOMo VWM ale/l®dEs MYLlINOQ

OUOBaH ) alevo M @H6)?
(a)2.5%

(6)25%
(€)12.5%

(d)10%

Ans(d)
Sol.

=>» [ Capital is same in both cases]
2>rx1=5x2
2r=10%

Q57.
B0) o) HMIM &30 FlalMo 189.50 @)al
Alleiss 50 6201 oaMHHU3 10,000
@al@ 6 N10). @oGR]0U3 LIG1H6}0M L10E0?
(a)Rs. 522

(b)Rs. 525
(c)Rs. 573
(d)Rs. 612

Ans(b)
Sol.

C.P. of 50 pairs of shoes

= Rs. (50 x 189.50)

=Rs. 9475

Their S.P. = Rs. 10000

Gain = Rs. (10000 - 9475) = Rs. 525

Q58.

S 1WOT3  @OWIBHE 72 ol @RU o
eIc)eM)o. @OAUMBSEON  (al@ 1AM  UOMISo
(03l 1@3)?

(a)2700 @l

(b)7200 @l

(c) 3600 @)l

(d) 2000 @al

Ans(a)
Sol.
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Suppose monthly income = Rs. x
Then,

> §% of x=72

D x* =72

300
> 239 _pe. 2700
Q59.

x M &0) czoell 4 aemlon@ 6dhoen:
@O QILNHIMY0 y DB TUIDMOMAOW] 8
06 6@ BN @GO &20ei]
al)BO IHHIMYo HY1WIOAH; @3, @ONUG
aeola @rem 6202/l al)BOm WIS
af)(© VDO af)S)HEN)0?

(a)160 @1MQ
(b)120 @1Q
(c)150 A 19

(d)140 @1MQ

Ans(a)
Sol.

(xand y)’s 1 hour work
1.1_3

4 8 8
. . 8
~ Required time = 3 hours

= (g * 60) minutes

= 160 minutes

Q60.
30.6 km/.hr GAUNDDHS) MLRILAIQIEN) aBD) ?

(a)10 2 1Q@B/OMHNMBUL
(b)12 A 1Q@B/OVHNBO
(€)15.5 21Q@/EYTVHOHNTOL

(d)8.5 21Q@/OXTVHOBOUL

Ans(d)
Sol.

30.5 kmph
= (306 * 1—58) m/sec.

=>» 8.5 m/sec.

Q61.

enM 1gdO@M B 2l0B O @3,
M@3H 1@ 1HNM DMEERE1T3 MM &9
@10 U0/ @O SHHUEBRUB @) [06)ATTNS)HE))bb.
(a)KkQW

(b)RXD
(c)BHN
(d)AGL

Ans(d)
Sol.
(AGL) 63916)8> 6 G(U06M 103

Q62.

M@3 1@ 1M NIRRT Mo,
Mopleng)  (ald000, LAST (MUOIMNOD  aRO)
alBo (U(0o?

1. Toast

2. Torpedo

3. Tongue

4. Trickle

5. Trick

(a)Trick

(b)Trickle
(c)Tongue
(d)Torpedo

Ans(b)
Sol.
Trickle
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Q63.
enM 1gdO@M
M@3H5 1 1@ 1H60M

N15)Galo@ MMI@ @ 1EETMSIHE) L.
13,17, 19, 23, 29, ?
(a)33

B 2l0B O (@3,

(b)31
(c)35
(d)37
Ans(b)

Sol.
@0EIRY Mo SHB)E)S (Ao

Q64.

B0} alBo QIS0 &30}
®(Uo6m] M@3H> 1 1@ 186)30m). ®(Uo6m]
al)BO 1OHNM @O0 103 o)

(O 1O 6NIBMIY () 1(06)IIOTDSIHE) bb.
Uy, SV, QS, OP, ?
(a)NM

(b)ML
(C)MM
(d)KL

Ans(c)
Sol.
-2, -3 GUoeM 1803

Q65.

L, M, N, O, P oMU &IPCHNIS
@oE12R0W] 6303 V13 H@1HMMY. L
90 M 90 630)212406M) 8@ 1HIMD). N (USGHE)
@OQMOM0 O AMBHE @OQMMY0 D |HEYM).
M, N ag)mﬂmm)ge)s @mm)mfioe@ommosm P.

(USGHS @RQO MM MIMOND) @R)YIEN)?
(a)L

(b)O

()M

cuoemI@d  mlm

M—> 3" from North end.
L
0

Q66.
@M@ 1H60M @@me@egﬂmﬁ mlam,
OalGWIU 2] mgdagﬂsgmo@ H P 1O

(UOH6) @’lms)emmsgoe@goea.
Corporate
(a)Poor

(b)Rate
(c)Cat
(d)Prove

Ans(d)
Sol.
Prove

Q67.
B30 (YD CHOW @U@, "PRICE"
af)0M) "GEKTR" af)0MoeN)
o)) 11 1H00MD). @) CBHOM BIHWQ @3
"VALUE" af)6BREMQIEN)
a3 1@ 1H6M@?

(a)FWNCX

(b)FNWDY
(c)DWNCY

(d)GWNCX
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Ans(d)
Sol.
PRI CE G E K R
AAA‘[ I‘AAA

(+2 series)
VALUE GWNC X
A A A T T|A A A

(+2 series)
Q68.
B0} (COIH GBI  BIHWI@I,

)@ '+, "+ (@ MW@ 1HNMD X', X'
a)MNM@ '+, (MO )M OIe
(d@ 10N U@ 1860M). &M loO@M

cs_ruoecg(mﬂmg@@ OO0 HHE)ENSOT0)bs.
9-18+35x10+30="7
(a)44

9-18+35X10+ 30
=94+18X35+10-30
=9+ 18X 3.5-30

=9+ 63-30
=72 -30

= 42

Q69.

DM 1O@IOM MVANUIB L0 HDQIEN).
MUAUIE: 0 LB 1IBOING R @) 6N
@RSWIBEERBIEM al@TVO0 AIGQENM)?
20+14 +5x20-2=56

(a)*+ and x

(b)+ and -

(c)+ and =

(d)- and +

Ans(b)
Sol.

20+14+5X20-2=56
=20-14+5X20+2=56
=20-14+5X10=56
=20-14+50=56

=70-14 =56

= 56 = 56

Q70.

1601 = 8, 1406 = 42, 12a5 = 30
)M OIWOREME: @3, 2a6 = BoeXD MRIYo
EHEINBOTONEL?

(a)6

(0)18
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(c)4

(d)10

Ans(a)

Sol.

16/2X1=8

14/2X6=42

12/2X5=30

2/2X6=6

Q71.

D@30 @RSHN MO aBO1M&0
@RS lrunom@m 12106M)

a) aflemuyo MLOMB®)0

(b) 820211 ©21Q)

(€)8aNIPTVY0 aB W)Yo

(d)enielniyo BN

Ans(c)

Sol.

9al@melom 1) RloanIMOW]
(UBOmHNM @M)@Y eAl
enlelo af)(Mo6M D@30

M3 21@ 180 md@m’mﬂ@o s
@M al0MY@3  (Pa) @M, 6D B30)
almMEWe A1Q01M &) MSNE MILILA06N.
@) 1MI3, 6300Jnﬂd(T3 ) V0@ lQo6N).

0@Go alel @(aamsﬂm% @RBH00.
@M1 HHOM B0 DBGFo @OSHO0M 630
eNI0GEIAI0B  OalGIUNHMND:  af)MMIEN)
B0) 6ald®) MOMBWo. M&QOM) MLOUIEM
M0@Uo 630} mocsmomQ@ OalBQIUT 1) B>
af)(M@DOEM), @RD®) B3} (BONULOM 1BEONCWI
QU BO 1MBEONCWI ABGEo BRSHNM).

Q72.

&30} ® ual’lmM AULOMOYD) @3 A 1A
SN @3 2121800 303 UMM,
enM o O@IMOIQ @B a@@96N) Mua 1A0Q)
M 2Im@3LNM@)?

(2)BNUN®
(b) M@ 180322220
()N 1BH>0(322220

(d)®I6Mo

Ans(c)

Sol.

B0} O1euallm ALOMOMICE O 1EAIQ
cUNO@I@  aleflemm  &m)  aumpaila),
NG 1BH003220 MO 1AW @IS@IM).

Q73.
B0} MG DO d HEMISles MmO o3
MI@IHNMM). @OAUROS RIS afl(@®o
Qepmlo EIEEMIMBEAN DUWIEINO GBGO

AeNajAlo  HILNDHES  QalO)ONAIQ
aflMo @ONUUE  HENBONAM).  D)HH63 10
miomas 002165 o0 Imss

CHIMNEMHMBENS (Do @IOY
E)BHISYHNM).

(@) (al®.lo, BAINMINUE;, GHIMNIBHN
(b) GB>06N3ONULS, BBINMBBHN, (al®Elo
(€) GerI6NBBB-N, (al@Rlo, GrI6N3E LS

(d)BB-I6MIONUE;, (Al@Elo, GH>I6NFBH-Y

Ans(c)

Sol.

O3 0103 01O SY O 1@
Aflom@Boe0 aelajo  ampAlmdoen

QUeROD 10N @)RIIMI6M. G0N, A 10
B}OWIM HEAZ HENIIHNM], BOBDNVAWO
GBr0NBBL-N 2103 af)210WEa0P)0
aumnimdeen 000N 1e6an0) Nk
OENMBIHOMY.
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Q74.
QORI O3 AalN0)o N 12)R8s B)o
H)SIGMIOU3

(a) 21 l(@Mo @OBMAIS] @SINN)

(b)al@om 10860 queiledo AumpNndsen
NILNBOMHNIUE BN @ 1H6)30

(c)all (@™o e)l 103 @ 1NNYo N eSS
@dsLlo QUGRU1HM)

(d)ail@Oo Ol 1M @000 Mo 1enss
300 HINWIM)

Ans(c)

Sol.

o103 0100 @3, NS ()00
a0)2100Ga0P)0 BN B0 10
ONRILA06M). @M MM, UMPONo ol
o100)0 O eRss @0HLlo

QUE@RUH6)EMIOUE, a0 e)al@ M8 @100
O 1eNSBS G100 (UGERU1H63M).

gﬂsﬂgjoq»gmm@ﬂmfs AR aBQOY0
OWAM @RYNUIOD |QYBS0)?

(a) NOMI & 1EMEBRUZ

(b)@Q)@3aN B> 106MEBRU3

(€) GHIMY 1B o 106MEBRU3

(d)BOM1CWI M@oNEBRUB

Ans(c)
Sol.
N0 & 1EMEBRUE, @YT0a0 > 16MEBRUT,

GOMWIBWI ®oUNEBRUZ )M 1@ @3
aBQOjo  OWAM  @YOUIOD | CHHOMY 1
& 06MEBRUBHMNBSMIGN.

Q76.

AOINIRRI HEMSR03:6)0 LMAIMo
aRHBGRU00

(a)74%
(b)76%
(c)78%

(d)80%

Ans(c)

Sol.

RQD1W6S @I’ HHUDOD) 16)2] QUOW)
aBHGRUW0 78 VMAIMo EIOMSRMYo 21
OAIMo 630483 12M)o Gol@mM@mOo6n).
HIBNINT OHW BIBHESTVAD, M1EWINS,
6)6)aN (B3 ORSEER1W 62101
@R8N 1eR88 OQ NUIDMIBG:EBRS)0 MO 1G3
O6Ns.

mloalaelom, aemalalnom, @)ailwleloom

QUIDBHADI6M 66 N(S2. ()
Qa0 1m0 @ lallS1enomm@mmoem.
lalalei@o 6.l aBQ0N0 rUALELAIWQ

MPLIHAN ©MSRM, RQNIW]eRI BN
MUALELAIW aBPLINEDD MYCIHN6M D).
OISR RN MIBNISH: UMY BN LN

9l M @EA6M 1@
03l0BMO 121)0 6)6MN(S203
DalEIUT1HeM].

Q77.

GMNIa] HA18 H:906Mo M 1N B@IMMIMD)
(a) QU0alMo

(b) (@ la0RIMo

(c) QSO BHRIMo

(d)EDNU T3 aBEB: 12130 BM)

Ans(c)

Sol.

eam@om  anlellmssleorl QUL 1&HRIMo
Goa] M 18QOS mooo 1)
HOEMMAILYIOM).

Q78.
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O0aNMEBRS 13 HO@@ (L) A1NNIW]
Dl 1HNMD) AR BH6MIS 1IEAT)?

(a) (nd@Elo
(b)BBH06MIEI LS
(C) GHINBBHHN

() OBMI BeBHOENMBBH-N

Ans(b)

Sol.

GHINBONG 0@ af)MD (UIaNMEBRS T3
AdlMI@d AU AUaNMEBRHS  HOI@

alQIMMIMOME  &@) (U aleilaanam
HEMOS 16,

Q79.

6O OY0) 6N 2o aB¥  MNeERU3

Gal@ommosn). M1N6ERUE GG 1@ 1H630M
@1 af)O®I6M?

(a) B©) (o lVODY1eN6S
HSMIBAIIBIMD 12NAS

(b) a0 1@3SENHNE (UY)
(c) @B 10166008 B¢ 1wilal

(d)@6M330 (a) Lo (b) &o

Ans(a)

Sol.

(lBHIROM B0 GAUNM@Yo @R 103610
0P |SEHEBREBY0 MIWIAOM B0 00BN
M2l 1MW NNal@ oo
QUS@IOMVSINM). (0000 63(0) 63alQ) O3
2w o @3 o) D6Q00M 1GLIHSE)
MUEID 1HCMIOUE @O 10860 aldOWeA!
QAUYO1@IMAeM  ONaNdHHNE. QUM
MoUNEICIBEBRILEERUE UMY @R8N1eN8s
QU@ 1Mo @omMENI1H603M).
O@3aNLIN0Q ], (e 1e)es

HSMIBAIIBYEMIOUE OOUBYOD (0o 7
MO6ERSOW 1 (VIBGYOR) Nl s6)0m).

Q80.
a1 afl 00360 MoEINIM B8
@MMole]  GRWIW  WOMI®  G1Mo

@21 1HNMD af)Eaj0PIa?
(a)28 )aN(ENNNI@]

(b)16 (NCUo6NI3

(c) 2@ 14

(d)19 (W 1rvoeni(@

Ans(a)

Sol.

1928 @aNENRNIG] 28 M OIS EIDMIEN)
'000(03 (AIBINIO' HH6)6MEOD QM. @M IMIW]
@REGaNOM1N) 1930-T3 OMIGENIT3 MVANIMoO
PIC)2)).e0@ 103610 MYE6EMIMBM@N0 1986
6aNENNNIM] 28 M@ L0 (UMBGHNYo DD
Glmo 'GRWI® wIMI® GlMmo G@RW
@10) 210 186)3(M).

Q81.

120 BHYNWIBHWIEEMB @3 @R B0 x%
af)M@ 40 BSIMD BN x% (M) ORLIIDOQ
aNBlo M@BBHIMY, @RSEMT 210 (BS6O x% 180
MO0 (x + 20)% af)MOCMHNIUE  af)(®
R@DIMO EHINNUIEM?

(a)33 14

(b)18
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120x 40x
120 — =40+ —
100 100

_ 4x 12x

"ot 10
800 = 16x
x=50
ATQ,

50% of 210
=105
70% of 180

=126
— 1267105 L0 21
126 126

50 2
= —_—= =0
X 100 2 163/0

Q82.

0920108560 AUGIMOIMo  6)2121N1EMHIU3
20% xSIMEINEN. @RAINGSEIN UBIAIMo 60%
Q@R 1B HY0 6)21Q)OMEINES (@3,
@O0 MUMIOBLe  af)(@®  L@AIMo
)50/ B)NWY07?

(a) D) 10% HINQIOM

()8D) 2% IO

(C)80® 10% CUBEV BN

(d)ED®) 2% CUBRV BN

Ans(c)
Sol.
xpenditure 5 35
Expenditure 60% >+
Income 6 3.6
Saving I 0.1
~S—

+0.1

Increase in savings = 0—;1 X 100% = 10%

Q83.

A @S QUOROMo B GRHNIUE 25%
HISIORI0EM, C @IS (l)A0Mo A, B
)M NS QUIAOMO 1(BE6)0

@YOBOMBHCRBNE  65%  HINMUIEN. C
QYOS NUEYAOMo A YOS AUDIRIMEOMENIUS

) (@ LDOAIMO BIOMUIEMT?
(a)28

(d)37

Ans(d)
Sol.

C

A+B 20
LetA+ B = 180

A =100,B=80,C=63

w >
|0

Required % = 1030_063 X 100% =37%
Q84.
A QS U@IAIMo B QS

QUIDIMECODHNIE  50%  HISIMLI0EM. A
Q)OS QU@IAMIMo 40% OIM@ERV {18680 B
QOS QIYAOMo  90% UMRYIa{lHeHWIo0
6)21QO03, @OUDYOS MoGWIE 1@

QUEAIMOM 1621 AUBRLMA aB?
(a)64

(b)55
(c)60
(d)70

Ans(c)
Sol.
Letincome of B =100, then A =150
Ais increase by 40% = 150 + 1510:040 =210

B is increase by 90 % = 100+90 = 190
Sum of increase income = 400

Percentage increase = % X 100 = 60%

Q85.
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a0y AmRAmcan aflel 20% H)02Eajous,
@O IMBeo0  Aldddm  x%  QIGEU]a).
QU@IROMO® (B0 M@ @3 60%
QUIBERLMAT ©FENZB; @3, x BN MR Yo:

(a)120

Ans(c)
Sol.

Let price of an item = 100
and they sale item before reduction = 100 item.
Total amount = 10,000
ATQ,
Rs. 100/item 100 item
80 100 + x%
80 (100 + x) = 16000 (60% increase)
100 +x = 200
x =100

Q86.
MW OWEO0  AUIRINOM B0 15%

RIOR1HNMM).  @OAUSOS  ealeln]  20%
OU@RY 1B B0 MUMIOBS0 60%
OU@RY1HHY0 6)21Q003 @IS

QIEYAIMO af)(@® LOMAIMo NUBERU12)?
(a)26

(b)35
(c)24
(d)30

Ans(a)
Sol.

Income 20

Expenditure 17 — 3.4
1.8

5.2
. 5.2
Increase in Income = o X 100% = 26%

Saving 3

Q87.

A a)MD B-6)QHNIUT 20% HONI0EM, C
)@ D-OQHNIUE 30% BYSYORI06M. D-
QD8 A-OQHNIE 25%  H3ONUIEEMES @,
enM o O@IMOUQ @B BN (O 12

(a)B =0.39C

(b)C = 0.78B
(c)B = 0.78C
(d)C = 0.39B

Ans(b)
Sol.

Let Abe 100

ATQ,
A:B:C:D=100:125:97.5:75
Or40:50:39:30

So,C=0.78B

Q8s.

A, B-6)XQHNIUE 20% HNNIIEEMES I3 C
)M D-OQHNIUE 20% HISIMRI0EM. D, A-
OQHRIU3 25% HINNU06)6M S (@3,
enM o O@IMOUQ @B BN (0@ 1?
(a)B=0.675C

(b)C =0.72 B
(c)B=0.72C
(d)C =0.675B

Ans(b)
Sol.

o | b

A=0.8B =%
B

C=12D=><=
D

D=0.75A=
= A:B:C:D

I oo

3

4
0:25:18:15
=0.720RC =0.72B

2
A
2

Now,

w|a
™~

ol

Qa89.
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mEE] ®WEe0  AUEAIMOD B0 75
WODOMNNo  AalflNIF1HNMM).  @OOUSINS
QIEYAOMo 20% OUBRVIBMEHWIo TVMIIBY0

1%  MOW}BHQI0  6)al@IT3, @SOS
ealelnfleal AU@RLMAT aB@o6M:
(a)27
(b)2.2
(c)22
(d)2.7
Ans(a)
Sol.
_3 300
75% = 2T 00
Income  Expenditure Savings
400 300 100
lx 20% l l- 1%
Increase 80 81 -1

Increase in Expenditure = % X 100=27%

Q90.

A Q)eS QIIBOMo B I0S
QIIDOMEODHNIUE  40%  HISIOMLI0EM. A
QYOS OI@AIMOMIG3 25% (IG@RLNWIo B
@OOUMBE0 NUDIRINDM @3 40% NUBGRLNW)O
GMSIWOM3, A Q@)OS@}o B @EOSW)o
MoGWIE 1M CUBIROMOD 16l AUBRLMA:
(a)31.25

(b)34.5
(c)28.25
(d)24.5

Ans(a)
Sol.

Letincome of A = 140
Income of B=100
25 40

Total increase = 140 x — + 100 x —
100 100
=35+40=75

% increase = % x 100% =31.25%

Q1.
8  (U@aHo  MMI, (Al 1MBEON@)0
O] QOS@)o (0o 34 af)(M

@M@ 1210 1), 9 OI@aHo
@O IMIT3 @OAUDES (Al0Qo 45 af)(M
@PMIal0@O™ 1210 1@ 186)o. 6  (U@aHo
NOI @OUDYOS (0O 10356)0
@PMAlO®o )TN @ 166)0?

(a)65: 82

(0)63:82
(c)59: 81

(d)59:76

Ans(a)
Sol.

let, the age of Prakash be x and age of Pragati be y
x-8 _3

ATQ, o=
L,
y49 5

On solving above equation, we get x=59, y=76

ratio of their ages 6 years from now=(59+6):(76+6)=65:82

Q2.
OalaldUd P, Q oMU ©)6)alalddud
UOIMNIAMIHNMM], WINJ(HAo 5 MM 1HMNNY0 12
D6M1HNN0 BIENS 63(0) S LM INILNINS
HF1W0. R af)(M@ S98651@3 N 1NQWH0M 60}
6)al]o6M. af)20 ealgdhelo B2 2]
@OMM). S986510856)0 1/6 BINO LOYMIDILIN
@oNUB 80 @ 1MIOQSYOM). @6ale] R M S8
MO HNINB )@ TVAQO af)SYHE0?

(a)6 15—9 hours

6
5— hours
19

(b)

6—hours
(c) 19

5
S—hours
19

(d)
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Ans(c)
Sol.

Since, 80 minutes to empty 1/6% of the tank

Total time taken to empty the tank=80 x 6 min=480 min= 8 hours
ATQ,

—

!
¢
1

57

Q93.

A U6 630 G20L1WAS 2/3 @I 12 GlAUMuo
OB B WP @OCm GR0L/Qes 2/5
B0 10 AGliMo  ©OdheNRo 62l
HY1WYo. Ao B@o 10 GluMio a3@yda]

(lU@omla)). C  @0(@o  6NINHE 1B
c202/16:03 1 3loumo BN
@O QIR  AQo CQo Boydla]
(Al OIBO 1B EMIOU3 BG0 @200e]]

o)A 1IHHINM af)(@® B1OUMO af)S)H60?
(a)12 days

(b)9 days
(c)10 days

(d)8 days

Ans(c)
Sol.

A can complete the whole work in 18 days

B can complete the whole work in 25 days

Let total work be 450 units (LCM of 18 and 25)

Efficiency of A= 25 units/day

Efficiency of B= 18 units/day

Work done by A and B together in 10 days= 43X 10 = 430 units

Efficiency of C=w = 20 units/day

Required time=%(:0 =10 days

Q94.
A, B, C opmlad 6 : 4 8 af)m
@OMIAlO@OM T3  @OOIEOS  MEIWMo

0alcWIUTle &m) enflavlimm) @oc]a)).
30600  aldBOD MBEAN®Io  @OAIMVIMo, A
@OINBSe0 @MeIWmo Al QO]
HINWHNMM), B @RAIMGSO0  @RIWMo
DOS1QWILNMI, C  @PAUMEO0  MAIWMo
Q0@ 12/06@® OISy, 630) (U@aHOUTVIMo,
A QS RIDBo 13,500 ©)al®I6EM: M3,

OROOMo LI19E0 (BlQ@3) ag)(@@OI6NT?
(a)Rs. 1,33,900

(b)Rs. 1,30,400
(c)Rs. 1,23,900

(d)Rs. 1,24,600

Ans(c)
Sol.

Letthe amount invested by A, B and C be Rs 600x, Rs 400 and Rs 800x respectively
Ratio of profit share

A : B : C
600xx 3 +300x X3+ 150x X3+ 75xx3 :  400xx 3 +800x X 3+ 1600x X 3 +
3200x X 3 :800xx 12

45 : 240 : 128

Required total proﬁt{ﬂ X413 = Rs 123900

Q5.

33 & 1.0/mem 1m0 1eno 39
& 1.0/mem 1em01elo GAUNOMI1@3 VAT
(SOHNBHE T3 o) 1BR1WIT3 B9S3M @6NS
OSWIMEHUE  al@TYO0  HSHNIMB 23
OMVHOMBU af)S)HN0. B0} S IMIMBE0
m’8o 250 2°10006)6Mes; 100, 0GQ
oswImlndzen mso:

(a)210 m

(0)225 m
(c)240 m

(d)190 m

Ans(a)
Sol.
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Let the lengths of other train be x m
ATQ
sumof length of both the trains

sumof speed of the trainsinm/s
_250+x

72X~
18
x=210m

Time=

Q6.
A, B, C af)M1NI@H6 @LO(@A0 40 B0, 60
3luo, 120 BlUMIo OB B0 G200
0)21QOMB HE1WIo. A GRILIT @YoE LM,
a0 @Moo  BlAUrunlo @PAIEM B®)o
CQlo &@a] MaNIILNM).  af)®
1Mo B>96NS B2R0L1 )BT 1@IH)0?
(a)12

(b) 13;

1
(0)33;

Ans(d)
Sol.

Let the total work be 120 units (LCM of 40,60 and 120)
Efficiency of A= 3 units/day

Efficiency of B= 2 units/day

Efficiency of C= 1 unit/day

In 2 days, work done by A= 6 units

On 3 day, work done= 6 units

i.e.in 3 days, work done= 12 units

so, for 120-unit, total required days=1% =10X 3 =30days

Q7.
B0} QB 240  H1eea’ 0@ Ro
merI@ 1M, BV 1HM] o0 1e)o
ENINHE 1IBB®) aslmleno. 200

& 162100°10@ £:0018)0 6nIH6 1 (s Imleno
1

QO(® 6)21QITI % D6M1BN@ af)SyHe0. 140

162102710@ as@IMm1eRo anoHs 1 &Hon1eno

QO 2RI  ° DEMIBNA  af)SIBNo.
(SWIMMB60 BOUND f)(QIEM?
(a)75 km/hr

(b)90 km/hr
(c)60 km/hr
(d)72 km/hr

Ans(c)
Sol.

Let the speed of car be x km/h
And, the speed of train be y km/h

ATQ
200 40 10
x y !

100 140 11

x y 3
On solving the above equations, we get
y=60 and x= 75 km/hr

Q98.
B0} MIWMOMIMBoen Aflel 425 @)al@oen).
BO) HSWISA 20% HIFIA0 MTBHIMY,

EDBaJ0¥)o 16% RI0Go @MSIM.
GRIAIMOYD 10360 @PRSWIBEUSIOM 1@ Oflel
o) (M@O6M?
(a)Rs 605.75
(b)Rs 620.50
(c)Rs 624.50
(d)Rs 616.25
Ans(d)
Sol.
Discount - 20%, Profit - 16%
CP : MP
til() 1 i 6

425  616.25
then [MP = 616.25 Rs|
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Q99. We are given total average = 43

A B, C afMINI@H6 @INO(H@0 9, 12, 18 First 11 number average = 33
slaimesglod ey  ezoell SDQJ@O@ Last 11 number average = 53
HFI.  af)aloNIE}e  BoYA12J06M  alem] then, 21 x43=11x 33+ 11 x 53 -x
mseERlweames1elo 3 FlUMVEMIN GUaaHo =[x =23

A GaldW]. NINBH1IBS GRILNHUE af)®
G1OUM0 6)8HI6NS NGO 1WIH61?
(a)2

(b)5/2

()11 ™ A

o KERALA
HIGH COURT

S Office Attendant
‘ 10 Total Tests
3 fz 1(‘8 English & Malayalam
W Test Series
36

3 day all work together = 27
Remaining work =36 -27=9

Remaining work completed = Z days

Q100.

21 (M6 HEIRS 630} GU6M WIS LVBIWM |
43 @Ry6M. @RI @3 @DBIEOD
A®emMIMIMBEeN  1VEIWME] 33 @Y.
@OOUTVOM  al@1OMOIM  MVoGUIHHB)S
DI 53 @yen. GLoeM &S

al@®OMIMODEDD Mo6UY aBIENTI?
(a)43

(b)47
(c)33
(d)46

Ans(a)
Sol.
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